MTH 265, Quiz #4, Summer 2024 Name K'C Y

Instructions: Show all work. Use exact answers unless otherwise asked to round.

1. Sketch the graph of the vector-valued function 7(t) = costi —tj + 2sint k. Use 10 points,
and at least 2 full cycles.
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2. Using the function in #®, find the following:
a. 7'(t) =

—m’c’t—j‘wc«wk

b. [r(t)dt a
= (s 1T ()] = (Beb GOk

3. Sketch the vector field F(x,y) = yi + (x + ¥)j. Sketch at least 15 points by hand. Verify your
graph with technology and include that graph with your solution.
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